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1-9560

If A; denotes area of the region bounded by the curves
Ci:y = (x — 1)e” tangent to C at (1, 0) & y-axis and As
denotes the area of the region bounded by C; and co-
ordinate axes in the fourth quadrant then (A) A; > A, (B)

Aq <A2(C)2A1—|—A2:2(D)A1—|—2A2 =4

®
Watch Free Video Solution on Doubtnut

2-9771

The value of k for which the area of the figure bounded by the

curve y = 8z? — x°, the straight line z = 1 and z = k and

the x-axis is equal to 1—36. (A) 2 (B) \?/ 8 —/17(C)3 (D) —1

®
Watch Free Video Solution on Doubtnut

3-9772

The area of the region bounded by y = 2%, y = [z + 1],

12 7
z < 1 and y-axis is (A) 3 (B) 3 (C) 1 (D) 3
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The area (in sq. units) of the region {(:1:, y):y* > 2z and

:c2+y2§4a3,a:20}is:(A)7r—é(B)7r—§(C)

3 3
4+/2 24/2

T— —— D)7 — ——

3 3

4 -11677

®
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If the area of bounded between the x-axis and the graph of
Yy = 6 — 32 between the ordinates z = 1 and x = a is

19 units, then a can take the value (A)4 or — 2 (B) two

5- 33939

value are in (2,3) and one in ( — 1, 0) (C) two value are in

(3,4)and onein ( — 2, — 1) (D) none of these
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The area bounded by the curves y = log, x and
y = (log, :I:)2 is (A) e — 2 sq. units (B) 3 — € sq. units (C) e
sq. units (D) e — 1 sq. units
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The area bounded by the curves y = /x, 2y + 3 = z, and

x-axis in the 1st quadrant is (A) 18 sq. units (B) T sg.units

4
(C) 3 sq.units (D) 9 sq. units
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T
The area of the closed figure bounded by y = > 2 + 2

1 9
and the tangents to it at (1, 5) and (4, 2) is (A) 3 sqg.unit
3 , 3 _ 9 .
(B) 3 sq.units (C) > sq.units (D) 1 sq.units
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9 - 35890

The area of the region described by

A= {(:Jr;,y):ar;z—|—y2 < landy® < 1 —z}is (A)
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10 - 43864

The area of the closed figure bounded by

y=x,y = —x,y = — xand the tangent to the curve

y = v/z* — 5 at the point (3, 2) is (A) 5 (B) 12—5 (C) 10 (D)
35

2
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11 - 44210

The line y = m bisects the area enclosed by the curve

3
y =1+ 4z — z*andthelinesz = 0,z = Eandy:()'

, 13 6 3
Then the value of m is (A) 3 (B) Il (C) b} (D) 4
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12 - 55761

The area between the curves y = 2zt — 2%, the x-axis and

the ordinates of two minima of the be curve is (A) 240 (B)

7 7
— — (D) N f th
120 (C) 60() one of these
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13 - 58279

. 2 .
Area enclosed by the curve (y — sin~? :1;) =z — 2% is

T _ T _ T :
(A) B sq.units (B) 1 sq.units (C) 3 sq.units (D) none of

these
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14 - 62966

2
x
If the parabola y = o> divides the circle z° + y2 = 8 into

4
two parts, then the area of the parts may be (A) 67 + §

4 4
sq.units (B) 2m — 3 sqg.units (C) ™ + 3 sq.units (D)

6m — — sqg.units

3
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Suppose y = f(z) and y = g(x) are two continuous
functiond whose graphs intersect at the three points

(0,4), (2,2) and (4, 0) with f(z) > g(x) for0 < z < 2
and f(x) < g(x) for2 < © < 4.If

4 4
/ [f(x) — g(x)]dz = 10 and / lg(z) — f(z)]dz =5
0 2
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the area between two curves for 0 < x < 2,is (A) 5 (B) 10

(C) 15 (D) 20
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Let 'a’' be a positive constant number. Consider two curves
Ci:y=¢e",Cy:y = e* *. Let S be the area of the part

, S
surrounding by C7, C5 and the y axis, then Lim — equals
a—0 a

1 1
()4 (B) 5 (©)00) 7
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17 - 63675

The slope of the tangent to a curve y = f(x) at (z, f(x)) is

2x + 1. If the curve passes through the point (1, 2) then the
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area of the region bounded by the curve, the x-axis and the

. . 5 6 1
ine z = 1is (A) = (B) & (C) = (D)1
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18 - 64372

2
2 _
and y = T 2

The area bounded by the curve y =

is A sq. units, then 2 the value of [A] is (A) 2 (B) 3(C)4 (D) 5
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19 - 64376

Let S be the area enclosed by the curves
f(z) = 4|z| — |z|° and g(z) + v/4 — 2> = 0. The value

is equal to (A) 10 (B) 12 (C) 14 (D) 16
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20 - 65457

The line = c cuts the triangle with corners (0, 0), (1, 1)
and (9, 1) into two region. two regions to be the same ¢ must

be equal to (A) g (B) 3 (C) ; (D)5 or 15
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The area bounded by the curves y=Inx, y=In|x|, y=[Inx| and

y=|[In|x|| is (A) 4 (B) 6 (C) 10 (D) none of these

®
Watch Free Video Solution on Doubtnut

22 - 85773

Area bounded by y = In(z + )1, y = lnx + 1 and their
common tangentis (A) 1 — In(e — 1) (B) 1 + In(e — 1) (C)

1 1
§+ln(e—1)(D)—§+ln(e—1)
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23 - 86457

Let a function f: R — R be defined as f(z) = = + sinz.

27
The value of f~Yx)dz will be (A) 27 (B) 272 + 2 (C)
0

21 — 2 (D) 7
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24 - 105178

The area bounded in the first quadrant by the normal at(1, 2)

on the curve , y2 = 4z, x — axis &the curve is given by (A)

Ve logip
5 (B) 3 (©) 5 0) 3
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25 - 107042

The area bounded by the curve y2 = x — 1 and the line

. 9 8 1 10
y:x—3|s(A)§(B)§(C)§(D)?

®
Watch Free Video Solution on Doubtnut

26 - 107044

2
The area bounded by the parabola y = 4:1:2, Yy = % and
20 10v2 40+/2 2
the line y = 2 is (A) ;/_ ;/_ (C) T\/_ (D) %
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2m

If f(x) = sinz — :c,then/ 'f_l(w)‘da: = (A)7* (B)

— 27

272 (C) 372 (D) 472
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28 - 152921

The area the region containing the points satisfying

1
Y| + DY < e !l and max (lz], ly| < 2).is(A)2 —1n4

(B)In2 — 4 (C) 2 4+ In4 (D) none

®
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29 - 184936

The area of the region bounded by the curve y = e” and

inesz = 0andy = eis (A)e — 1 (B)

e 1 e
/ In(fe+ 1 —y)dy (C)e — / e“dr (D)/ In ydy
1 0 1
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30 - 222316

P(a, f(a)) and Q(B, f(B)) are ends of an arc in the first

quadrant. The area bounded by the arc, ordinates through P
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and (Q, and the x-axis is (A)/ f Yy )dy (B)

/f‘l dy(C/f de)/ de
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The area bounded by the curve z? = ky, k > 0 and the line
: .2 , 3
y = 3is 12unit®. Then kis (A) 3 (B) 34/3 (C) 1 (D) none of

these
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32 - 222319

The area bounded by the curve y = 27, the x-axis and the

left of y-axis is (A) log, 2 (B) log, 4 (C) log, e (D) log, e
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The value of

(97) /4 5
[/ (|sinz| — |cos z|)dx + / {— :L‘}d:c] is (A) 3
0 —1

(B)—4(C)2 (D)4

®
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34 - 278576

1
If f(x) = / elt=ldt where (0 < z < 1), then maximum
0

value of f(z)is:(A)e —2(B)e — 3 (C)e — 1 (D)

2(ve - 1)
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35 - 298864

Area of region bounded by
r=0y=0x=2,y=2,y<e’andy > Inzis (A)

6 —4ln2B)4In2 —2(C)2In2 —4 (D)6 — 21In2

®
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36 - 1136931

(x —1)(z+ 1)

Area bounded by f(x) = 5
x _

x-axis and

. 3 . 4 7
ordinates x = 0O and ¢ = 3 is (A) 5 (B) 3 (C) 1 (D) none
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37 - 1137412

Suppose that F'(a) denotes the area of the region bounded

byx =0,z = 2,y? = 4z and

y = |ox — 1| + |ox — 2| + ax, where o € {0, 1}. Then
8v/2

the value of F'(ax) + 3 when o = Qis (A)4 (B)5 (C) 6

(D) 9
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38 - 1214556

The value of the parameter a(a > 1) for which the area of

the figure bounded by the pair of staight lines

1
y* — 3y + 2 = 0 and the curves y = [a]z*, y = E[a]wz is

greatest is (Here [.] denotes the greatest integer function). (A)
0,1) (B)[1,2) (C) [2,3) (D) [3, 4)

®
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39 - 1253072

Area bounded by the curve y = /5 — z®andy = |z — 1| is

A o — 4 5 Sm+ 2 c Yo — 2 5 Yo — 2
— B)—— (O —— (0) —,
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Let f(x) = maximum { x + |x| , X - [X]}, where [X] is the greatest

2
integer less than or equal to x, The / f(x)dx = (A)5(B) 3
—2

40 - 1265087

C)1(D)7

®
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If the area of the triangle formed by the lines
r=0,y=0,3z +4y —a(a > 0)is 1, thena = (A)+/6

(B) 24/6 (C) 44/6 (D) 6+/2

®
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41 - 1269660

42 - 1310936

Find the area below the curve y = [/2 + 2 cos 2z | but

above the x-axis in [ — 37, 67| is (where [.] denotes the
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greatest integer function) (A) 27 (B) w (C) 67 (D) 87
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43 - 1350454

The area bounded by two branches of the curve

R R _ 3em2eio;d
(y—x)" == andm—lequals(A)5(8)4(C)5(D)5
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44 - 1443644

The area bounded by the curve y = f(x), the x-axis and
r =1 and x = cis (c — 1)sin(3c + 4) Then f(x) is (A)
sin(3xz + 4) (B) sin(3z + 4) + 3(x — 1)cos(3z + 4) (C)

(x — 1)cos(3x + 4) (D)
cos(3z + 4) + 3(z — 1)sin(3z + 4)

®
Watch Free Video Solution on Doubtnut

45 - 1443862

The area bounded by the x-axis, the curve y = f(x), and
thelinesz = 1,z = bis equal to v/b> + 1 — /2 for all
b > 1, then f(z)is (A) v — L (B) /= + 1 (C) v/2* + 1

L

V14 x?

(D)
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The area bounded by the curves

2
2 : .
— x“ and y = is (A) | m — — ] sq.unit (B
46 - 1744834 y y (1 + w2) ( ) 3 q ( )
2 . 1 .
T+ 3 sq.unit (C) | m + 3 sqg. unit (D) none of these
®
Watch Free Video Solution on Doubtnut
The area enclosed by the curve
T
y = /4 — 2% y> +2sin , and the x-axis is
24/2
divided by th is in th ti (A)W2_8(B)7T2_4(C)
47 - 1791602 ivide e y-axis in the ratio. —_— —_—
ymey w2 + 8 w2 + 4
T —4 D) 272
T—4 21 + w2 — 8
®
Watch Free Video Solution on Doubtnut
A i
dowbtr ¢ [ e
o Learn All
Topics
For FREE

48 - 1791982



https://doubtnut.app.link/P4RjT9AUgU
https://doubtnut.app.link/RDxsHbBUgU
https://doubtnut.app.link/osxssdBUgU
https://doubtnut.app.link/6wk6LhjdST
https://doubtnut.app.link/6wk6LhjdST

If
f(x) =sinz, Vz € {O, %},f(a:) + f(m—x) =2, Va
< (37]

2"
and f(z) = f(2m — z), Vx € (m, 2m), then the area
enclosed by y = f(z) and the x-axis is (A) 7 sq.units (B) 27
sq.units (C) 2 sq.units (D) 4 sqg.units
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49 - 2238118

The area of the region whose boundaries are defined by the

curves Yy = 2cosx,y = 3 tan x and the y-axis is (A)

1+31(2)(B)1+313 3In2 (C)
n| — —In3 — 3In
V3 2

3

1+ 51113 — In 2 (D) None of These

®
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50 - 2680513

The area between the parabolas y* = 4a(z + a) and

5 1 ( )(A) 4a> (B) 8a? ©) 12a2 D 16a>
o= TR Ta 3 3 3 3

®
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b
If = / |f(x)|dz,a < b, then f(z) = 0 has

/abf(a:)daf;

(A) exactly one root in (a,b) (B) at least one root in (a,b) (C)

no root in (a,b) (D) none
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52 - 3118755

Area enclosed by the graph of the function y = In®z — 1

2 4 1
lying in the 4th quadrant is (A) — (B) — (C) 2 (e + —) (D)
e e

- |
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53 - 3141294

Area bounded by the curves
4y = |2* — 4| and y + |z| = 7,isequal to : (A) 8 (B) 16

(C)4 (D) 32

®
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54 - 3145561

The area enclosed by the curves zy* = a*(a — z) and

(a — z)y* = a’zis (A) (1 — 2)a® sq.units (B) (4 — 7)a”
a’
sq.units (C) 3 sq.units (D) none of these
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Area lying in the first quadrant and bounded by the circle
9
z? + y? = 4andthelinesz = 0and z = 2'is (A)  (B)
(€)% D)%
3 4

®
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T

The area bounded by the curves y = xe®, y = ze~ * and

2 2 1
the lines ¢ = 1is (A) — sq. units (B) 1 — — sq. units (C) —
e e e
. 1 .
sq. units (D) 1 — — sq. units
e
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Find area of region represented by

8
3x + 4y > 12,4z + 3y > 12anda:—|—y<4(A)—7(B)

S olo_r
- (C) 5 (D) — o

®
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58 - 5267894

The radius of a circle, having minimum area, which touches

the curve y = 4?7 and the lines, y = |z is: (A)

4(v2-1)B)4(v2+1) ©)2(v2+1) (D) 2(v2 — 1)

®
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59 - 5944966

If the curve C is given by the relation y = z? + 1. Then the
area enclosed by the curve C, tangent to curve C at point

30
(2, 5) and coordinate axis in the first quadrant, is (A) — (B)

17
37 1T 8
24()7()3
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60 - 6736083

2
Area lying between the curves y2 = 4z and y = 2z is (A) 3

1
(B)

o
S
N
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